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{The sentence is written in the plain-style.}

gﬁ% = present, up to now, nowadays, modern times, current /

LElﬁzl/i’C =in Japan /

%%% LT WS f = the person who engaged in agriculture

* LT L3 = <plain-style-nonpast-affirmative> of LT \L\&X 9 = be doing now

*LEI g3=do

* [te form] WX 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action> /

FhiTh

‘f’JZOOEAo = about (approximately, nearly, around) 2 millions people

The number of the people who currently engaged in agriculture in Japan is about 2 millions.

40¢ﬁu c_J:lj’\'é &. =in comparison with forty years ago, N2 No.6
D ?5( = that number /
Li <top|c particle> /
\0)1 JE/{JJF less than one third /
[c/
ﬂgio T W3, = <plain-style-nonpast-affirmative> of 5)%2'3 T WX =be decreasing now
* J:ji N ¥9 =decrease

* [te-form] LW E 9 = 1 be doing now 2 <situation, state> 3 <habitual repeated action> //

Compared with forty years ago, that number has decreased by less than one third.

<UL7T. =and/

DSE£S o0&

BE3%%Z LT W3 A =the person who engaged in agriculture /
D/

D<Lwo  WL&S

60 %UE=23<Uw> /\—>F WU &5 =more than sixty percents /
|& <topic particle>/
25>V L &S 253300 &>

65 WX LD &*ofﬁﬁ D12, = <plain-style-nonpast-affirmative> of 65 L ED a*o‘fﬁﬁ NTY =
(X) is an old person who is above sixty five years old //

And more than sixty percents of the people who engaged in agriculture are the old people who
are above sixty five years old.
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0! lqkjég = this condition (situation, circumstances, state) /
%3 <direct-object partlcle>/
xZ_ct'D &L = &\Z_ckj & LT, = xz_ctj & 9%, 2L 7T, =be about change volitionally
and ....
* ”b’\‘iot > & 9 % = <plain-style-nonpast-affirmative> of 3%2_3: > & UZXT =be about to
change volitionally
Z Z & S = volitional-form of xli@“ g2 (change)
* [volitional-form] & U &9 = be about to change volitionally
* te-form is often used to join sentences or to mean ‘by (means of) doing ~, with doing ~’. And

it is sometimes used to show reason as well. /
TVWEA

B = recently, nowadays /
D>3EFLS v
WaW3 i E%U) © D 75 = various ways of faming

@9%;7

%0) 0 75 = how to farm the way of farming
%% PHhXI gl= E%% LZEJ g3 =farm
* (A) @ [masu-form] H 7z = how to do (A), the way of doing (A) /

Y <subject particle> /
hAh

2 51T L3 = <plain-style-nonpast-affirmative> of %Z.bh’( LWZE T =be being

considered now
MAD
*ZZ 5N FE I =the passive-verb (be considered) or the potential-verb (can consider, be able
AW

to consider) of & X £9 g2 (consider, think over)

* [te-form] LWE 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action> /

% 31, = <plain-style-nonpast-affirmative> of ‘[plain-style] = > T3 =1 hear that ~, | heard
that ~ //

They try to change this situation (Let’s change this situation) and | hear that various ways of
farming are conceived recently.

[}
%< @ —D = one of these (those)
|& <topic particle> /

Zh £T D £5IT = like the current situation &~

mnZ <
%EB%T by means of family, with family members

D5E&

E¥% 32 0 Tld <. =, notfaming

D>3ELS SEF£S

* B¥% 9 B = <plain-style-nonpast-affirmative> of 2% UL X9 =farm

|

S
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* [plain-style (but, ‘da’ of ‘{na-adjective] da’ and ‘[noun] da’ becomes ‘na’ and ‘no’ respectively)]
D Tl& 72 < =,not ~/

?§2< ) UA&b“ %91? F%EJ D %215? = in the form of ‘a company’ which many people work
together ]

* L{%J? = <plain-style-nonpast-affirmative> of %J% £9 g1 =work/

%%% 9% £S5 £ D =the thing which is farming

DS3ELS DSEFLS

* B¥% 9 % = <plain-style-nonpast-affirmative> of %% UL X9 g3 =farm
*(X) EWWD (Y) = (Y) called (X), (Y) named (X), (Y) which is (X) (It is used to supplement the

contents of some noun. In ‘(X) to iu (Y)’, (X) illustrates (Y) concretely.) /
2o = <plain-style-nonpast-affirmative> of ‘[na-adjective / noun] T9’ = is (are, am, etc) //

One of these is the one which they engage in agriculture in the form of ‘a company’ which many
people work together, not the one which you engage in agriculture with only your family
members like the current situation.

ML » (oY=
2D &S5% 2D —D = one of companies like this /

IC <existence particle> /
'HEZ5,) = %i’é = blue sky /
¥ <subject particle> /
% 5. = <plain-style-nonpast-affirmative> of &6 D £9 g1 =there is ~, have ~, exist /

‘Aozora’ is one of companies like this.

'HEZ 5, T=inAozora

|& <topic particle> /
(RS

< &>
S XTICT BV WD D ITX K> 7T, =by means of some inventivenesses which never

exist so far N2 No.13C
* 72U\ = there is not ~, don’t have ~, don’t exist

< &>
T X =ingenuity, inventiveness, ingeniousness /
DhdHD

# & = young person, young boy, young people, youth, lad
t=also/
Fres fJ‘/n\;?;5 . . .
BZ VY9 IRIE =the environment that (X) is easy to work ((X) work easily)
35 Fres
*E)= 9\ = <plain-style-nonpast-affirmative> of #1= ¥ 9 L\ T = be easy to work, work
easy

* [masu-form] ¥ 3 L\ TT =be easy to do ~ /
%Z <direct-object particle> /
2<

2<
E> T W3, = <plain-style-nonpast-affirmative> of ¥fE > T L\E 9" = be making now
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o<
*{ED £9 g1 = make, produce, manufacture
* [te-form] L E 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action> //

‘Aozora’ are creating the environment which young people also can work easily by means of
some inventivenesses which never exist so far.

ruwhs ]

25— Ik =the first inventiveness /
\d <topic particle>/

rf;&i > Ti %’3’ = the salary (wages, paying) which was decided
% <direct-object particle> /

F5
Ih> 2 &1 o =to pay, paying
F5

* 35> = <plain-style-nonpast-affirmative> of ?L\L\iﬁ“ g1 =pay
*'Here ‘koto’ is used to make a noun phrase (to change a verb to a noun). //

The first inventiveness is ‘paying the fixed salary’.

E% = agriculture /

|& <topic particle> /

bﬁ%z = nature /

¥ <subject particle> /

*Ebi companion, partner, company; opponent, rival

Ay

DT = [plain-style (but, ‘da’ of ‘[na-adjective / noun] da’ becomes ‘na’.)] M T = because ~ /
£S5 LTH =Dy all means, at any cost, no matter what, after all, in the long run, cravingly, at
any rate, surely/

bﬂ%h\@;b\ 3gob\ [F = when the income is a lot

* 57\,\ = <plain-style-nonpast-affirmative> of % ;:L\’C“@“ = (X) is many /

&= and /

;’T‘@ LY H# when (the income) is a little

* ’}‘73 L\ = <plain-style-nonpast-affirmative> of E‘tﬁ WTY = (X)is a little (a few)

* [plain-style (but, ‘da’ of ‘[na-adjective] da’ and ‘[noun] da’ becomes ‘na’ and ‘no’ respectively.)]
& & =when (X) do (did, is doing, was doing, etc) ~ /

7'J\ <subject particle> /
H:'.’C L XD, = <plain-style-nonpast-affirmative> of H:'.’( L XWX T =to one’s regret, (X)
appear
* tE' X9 g2 = appear, appear, come forth; leave, depart
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* [te-form] UL XWX J =1 to one’s regret, he does ~ 2 finish doing ~ completely //

Because the companion (partner, company; opponent, rival) of agricultural is nature, your
income is not stable no matter what (Lit: The time when your income is a lot and the time when
your income is a little will appear no matter what).

L/i)\l./\ = But/

WERAU®S

— % A = all year round
LipdW Pawn

W3 W3 73 O B = various kinds of vegetable

%Z <direct-object particle> /

?’E% Z & T. =by means of making

* ?’é % = <plain-style-nonpast-affirmative> of ?’E N X9 g1 =make

* Here ‘koto’ is used to make a noun phrase (to change a verb to a noun). /

U—tjb“ 1286 T%H = even if one thing is hopeless

128 = uselessness, hopelessness; impossibility; prohibition /

?’d@@ %é;‘%f = by means of other vegetables /

HIN—TZEB LSIC L, =IN—TZFB LSIC LT =NF—TEB LS IC T3, LT,

= make sure that (X) can cover and ....
*HIN—=TE D £ IC 9% =<plain-style-nonpast-affirmative> of 7/\—T&% L5 IC ULEXT

= make sure that (X) can cover
* [dictionary-form / nai-form] & 5 (€ U E 9 = make sure that (X) do ~ / don’t do ~

* 71/X\—"TTZ&E % = <plain-style-nonpast-affirmative> of 71/\—"Z 9 (can cover, be able to
cover) which is the potential-verb of 71/X\—U ¥ 9 g3 (cover) /

FNWDOE

& H = every month /

EOLAN . %Pd):)?“ck:)

B #E#l =the same amount of salary /

¥ <direct-object particle for the potential-verb> /
F5

Fs
IhzZd &5 I 3%, =<plain-style-nonpast-affirmative> of 1hZ% &5 I UX I =make sure
that (X) can pay

* [dictionary-form / nai-form] & 5 (C U ¥ 9 = make sure that (X) do ~ / don’t do ~
F5 F5
* #h X % = <plain-style-nonpast-affirmative> of 12 £ 9" (can pay, be able to pay) which is the

F5
potential-verb of AL\ X 3 g3 (pay) //

But, by means of making many kinds of vegetables all year around, even if one vegetable fails
to be harvested, they make sure that they can cover (make it up) with other vegetables, and
they make sure that they can pay the same amount of salary every month.
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£ Wi

EZD IﬁELat rﬁW)%) K> I 952 &1 . =The second inventiveness is ‘making sure that
they can rest’.

»F oy
*IKHB &5 I I% = <plain-style-nonpast-affirmative> of kéb 2% & 5 IC U £ 9 = make sure

that (X) can rest
* [dlctlonary -form / nai-form] £5 IC ULXT = make sure that (X) do ~ / don’t do ~

* 17|<<Vb%> <plain- style nonpast-affirmative> of 17|WD % 9 (can rest, be able to rest) which is the
potential-verb of 17I<5’>ti§“ g3 (rest)
* Here ‘koto’ is used to make a noun phrase (to change a verb to a noun). //

Ly WA

#t 8 = company employee /
|& <topic particle> /
#H A 73 = everybody, everyone /

5 [
iZ> H = different day

5H
* &> = <plain-style-nonpast-affirmative> of \Ai@“ g1 = differ, be dissimilar, be different;
dlsagree be wrong, be mistaken /
17|<6’>L7’<T: EY%O = <plain-style-nonpast-affirmative> of 1*3%7& EXD F 9 =take a day off on the

different day //

Every employee takes a day off on the different day.

Ly WA

# 8 = company employee /
hY <subject particle> /
%% = many (people) /
L% = <plain-style-nonpast-affirmative> of L\& 9" sg2 = there is ~, have ~, exist /
DT, =|[plain-style (but, ‘da’ of [na-adjective / noun] da’ becomes ‘na’.)] M C = because ~ /
ZNZh = each, respective /
Y <subject particle> /
Jﬁ%yf: = in order, in turn, one by one /
?7%6’%%': EtY% £S5 [T IniE. =if (X) make sure that (X) takes day off = conditional-form of %I—é&’%
= Etyé & D I UFXT =make sure that (X) take a day off
* [dictionary-form / nai-form] & 5 (£ U &9 = make sure that (X) do ~ / don’t do ~
* a—éﬂﬁf E&% = <plain-style-nonpast-affirmative> of %;r;é’%%': Ety N %9 g1 =take a day off /
%h IFE =to that degree, extent /
< (& 7R = < 72U\ = <plain-style> of % % <7ZWTY = (X) is not many /
H =but/
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Hh 73 = everybody /

¥ <subject particle> /

% 5 A & = precisely, accurately; cleanly, neatly; punctually, regularly /

T7|W)%> D 12, = <plain-style-nonpast-affirmative> of 17|W)%> M TY =can rest, | really want to

say so.

* f%%%) = <plain-style-nonpast-affirmative> of };Iz&b &9 (can rest, be able to rest) which is the

potential-verb of ?7?;5’%%@“ g3 (rest)

* [plain-style (but, ‘da’ of ‘[na-adjective / noun] da’ becomes ‘na’.)] ® TY =...... , | wonder ; ...... ,

| doubt ; ....., | want to draw your attention ; ....., | want to emphasize ; ....., | really want to say so
; because ...... — @ can be changed to A.

Because there are many employees, if each person makes sure that he takes a day off in turn
everybody can rest properly although he cannot take many days off (Lit: days off are not so
many).

WA

%_O) IﬁELat e %7& %ﬁzé Z&1 o =The th|rd inventiveness is ‘teaching agriculture’.
* ?5(2_% = <plain-style-nonpast-affirmative> of %ﬂxi? g2 =teach, tell
* Here ‘koto’ is used to make a noun phrase (to change a verb to a noun). //

05
ﬁﬂo feceN éﬁ* AN AR s I A\ A = the person who is like the one who has never

touched

soil (earth, dirt)

* %Eo fe 2N ﬁém P8 72\\ = <plain-style-nonpast-affirmative> of %ﬂo fo 2 EN é"* HOEREA
= have never done ~ before

* £ D 7& =the adjectival usage of ‘[plain-style (but, ‘da’ of ‘[na-adjective] da’ and ‘[noun] da’
becomes ‘na’ and ‘no’ respectively)] & 3 T3’ (According my academic analysis, ) it looks like
that ~

*(X) &K 27 (Y) = (Y) which is like ~

IC <recipient particle> /

|& <topic particle> /

%%ﬁ% = experienced person, person who has had a particular experience /

h¥ <subject particle> /

%%7 = agriculture /

E <direct-object particle> /

—MH 5 = from the basics /

& 5 A & = precisely, accurately; cleanly, neatly; punctually; regularly /
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&L &L
X %, = <plain-style-nonpast-affirmative> of #{ 2. £ 9 g2 = teach, tell /

The experienced person teaches agriculture to the person who has never touched soil before
from the basics properly.

< &>
Z D &5 %% Ik =the inventiveness like this /

|& <topic particle> /
bheD

&% = young person, young boy, young people, youth, lad /

IC <recipient particle> /

H=also/

%b D, = %b 27T, = le:b STz LT, =(X) was transmitted and .....

o

ofc
*{&1 o fo = was transmitted = <plain-style-past-affirmative> of {10 D £3 g1 = be handed

down, be transmitted; be introduced; be circulated; go along, walk along /
% &% 5, =Aozora (blue sky)

* te-form is often used to join sentences or to mean ‘by (means of) doing ~, with doing ~’. And

it is sometimes used to show reason as well. /
IC <arrival particle> /

|& <topic particle> /
Fnel

B = every year /

(D;g% = agriculture /

[c/

F v L>IU f2L) = <plain-style-nonpast-affirmative> of 7+ L > U 7z\\ T =want to

challenge

* [masu-form] 72zW\\CT9 = want to do ~ /
bhrHD

& WS &HHE =the young people who are ~
*(X) EWWD (Y) = (Y) called (X), (Y) named (X), (Y) which is (X) (It is used to supplement the

contents of some noun. In ‘(X) to iu (Y)’, (X) illustrates (Y) concretely.) /

Y <subject particle> /
BHEL

KX = many (people) /

(Fu [Z4%

A>T ETC =A>7T <K%, £LT. =comeintoand ....

* A>T <% = <plain-style-nonpast-affirmative> of u)(o C X9 g3 =come into, enter into

* te-form is often used to join sentences or to mean ‘by (means of) doing ~, with doing ~’. And
E}Ligh\sometimes used to show reason as well. /

##E = management, administration, person or group of people that manages a business or

other enterprise /
® =also/

2> F < WoT W3 = <plain-style-nonpast-affirmative> of 2 & < L\ > TWE T = (X) goes well
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* 5 X < =nicely, well, okay; successfully; ably, proficiently, skillfully, ably, knowingly, masterly,

like an expert, well, cleverly, aptly; deliciously
*WEHF gl=go

* [te-form] L E 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action> /
%3 12, = <plain-style-nonpast-affirmative> of ‘[plain-style] > T9’ = | hear that ~, | heard
that ~ //

| hear that the inventiveness like this was introduced to young people, and many young people
who want to challenge agriculture join Aozora every year and its business also goes well.

ZUL7T. =and/
Z1 =that/
|& <topic particle> /

Hcd D53FLS s

FUWEZED £ & LT = as the new form of agrlculture N2 No.1/

Hﬁ}%éhf W3, = <plain-style-nonpast-affirmative> of Hﬁﬁéh‘c LWEJ = be being
expected now

* Hﬁﬁéhi@“ be expected = passive-verb of Eﬁré L £ 9 g3 (expect, be in a state of

anticipation, be in an attitude of waiting) //

And that is expected as the new form of agriculture.

[134

D 4 ’ELL\ this condition (situation, circumstances, state) /

& <quotation particle> /

& % = <plain-style-nonpast-affirmative> of & D &9 g1 =there is ~, have ~, exist /
75“ <hesitation particle> /

Rh

ﬂ?b\o = <plain-style> of I 9 H* = what is (X)? //

There is ‘this condition’ in this article, so what does it mean?

—

&5

Zz%% 95 A = the person who engaged in agriculture /
7(% < = drastlcally/
/DZ.’D T. =Fio7ze LT, =decreased and ..
7)369 fc = decreased = <p|a|n-style-past-afflrmatlve> of ,;%z N F9 g1 (decrease)
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* te-form is often used to join sentences or to mean ‘by (means of) doing ~, with doing ~’. And

it is sometimes used to show reason as well. /
FARAWD &5

F 5 LLE = more than half /

¥ <subject particle> /

&L &
N ==

&B&% D I 7% > fc = became an old person = <plain-style-past-affirmative> of £EF&F D (T 7& D
9 g1 (become an old person)

* [stem of i-adjective] < 7% D ¥ ; [na-adjective] IC & D £ = become [adjective]

* [noun] IC 7& D F¥9 = become [noun] /

Z & =the fact that ~

the fact that the number of the people who engaged in agriculture decreased greatly and more
than half of them became old people

l\)

gﬁ%% 95 A = the person who engaged in agriculture /
7(% < = drastlcally/
/DZ.’D T. =Fio7ze LT, =decreased and ..
* 3> 7z = decreased = <plain-style-past-affirmative> of U ES] g1 (decrease)
* te-form is often used to join sentences or to mean ‘by (means of) doing ~, with doing ~’. And

it is sometimes used to show reason as well. /
FARAWD &5

3Bk = more than half /

¥ <subject particle> /

Bre . . Breo

H& I 78> o = became an young person = <plain-style-past-affirmative> of && IC RN £

g1 (become an young person)
* [stem of i-adjective] < 7% D F¥ 9 ; [na-adjective] IC & D £ = become [adjective]

* [noun] IC 7& D ¥9 = become [noun] /
Z & =the fact that ~

the fact that the number of the people who engaged in agriculture decreased greatly and more
than half of them became young people

%%% 95 % = the person who engaged in agriculture /

’} U =alittle, a few /

7)529 <, = 5@9 fco #UL T, =decreased and ....

* 5)%29 = = decreased = <plain-style-past-affirmative> of ,;%z N %9 g1 (decrease)
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* te-form is often used to join sentences or to mean ‘by (means of) doing ~, with doing ~’. And
it is sometimes used to show reason as well. /

&&% N0 %ﬁ% = the ratio of old people /

%ﬁ% = rate, ratio, percentage, proportion between two things

HY <subject particle> /

i%i’( L\ % = <plain-style-nonpast-affirmative> of i%i_’( LVE 9 = be increasing now

* i%ii@“ g2 = increase

* [te-form] LWE 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action> /

Z & =the fact that ~

the fact that the number of the people who engaged in agriculture decreased a little and the
ratio of old people has been increasing

RS

D53FLS
==

BEXZ 95 % = the person who engaged in agriculture /
ZL‘ L=a Ilttle afew /
/DZ.’D T. =Fio7ze LT, =decreased and ..
* 3> 7 = decreased = <plain-style-past-affirmative> of U ES] g1 (decrease)

\{

* te-form is often used to join sentences or to mean ‘by (means of) doing ~, with doing ~’. And
it is sometimes used to show reason as well. /

%%) @D %FJ%\ = the ratio of young people /

%ﬁ% = rate, ratio, percentage, proportion between two things

H¥ <subject particle> /

i%i’( L% = <plain-style-nonpast-affirmative> of i%i_’( L& J = be increasing now

* i%ii@“ g2 = increase

* [te-form] LWE 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action> /

Z & =the fact that ~

the fact that the number of the people who engaged in agriculture decreased a little and the
ratio of young people has been increasing.

< &>
W< DA D ITX =some inventivenesses /
& <quotation particle> /
3 % = <plain-style-nonpast-affirmative> of 3% D £ 9 g1 = there is ~, have ~, exist /

11/17



Y <hesitation particle> /

%ﬁitzﬁ = for example / ]

ERTR f\ieb\o = <plain-style> of & A %R f?%?“@“?b\ = what kind of inventiveness is (X)? /
There is ‘'some inventivenesses’ in this article, so, for example, what kind of inventiveness is it?

56

%\ H = the month whose salary is high /

© = (X) ¥ (Y) = (X), (Y), etc/and so on
o

9<
732 \\ B =the month whose salary is low /

H¥ <subject particle> /
3 % = <plain-style-nonpast-affirmative> of 3 D &9 g1 =there is ~, have ~, exist /
H. =but/

FNOE

#FH = every month /

Ew>5Dh&5

fa8l =salary/

hH¥ <direct-object particle for the potential-verb> /
F5 F5

IhZd &5 IC 9%, =<plain-style-nonpast-affirmative> of tAX % &> IC UZX I = make sure

that (X) can pay
* [dictionary-form / nai-form] & 5 (€ U E 9 = make sure that (X) do ~ / don’t do ~

F5 (3=

*$h Z % = <plain-style-nonpast-affirmative> of A 2. £ (can pay, be able to pay) which is the

F5

potential-verb of $AL\E T g3 (pay) /

Although they give you more salary in some months and lesser salary in some months, they
make sure that they pay you salary every month.

2

WERALE®WS

—& 1, = all year round /
Wo LpdL) Pan

—1EFED P = one kind of vegetable /
%i <d|rect -object partlcle>/
T’F DTS &5 IC T3, = = <plain-style-nonpast-affirmative> of T’F n MH%) £S5 UET =

make sure that (X) continue to make
* [dlctlonary -form / nai-form] &5 I UFX I = make sure that (X) do ~ / don’t do ~

* 1’I5 DT = <p|a|n style-nonpast-affirmative> of 1’F DETET g2 = continue to make
* [masu-form] ’f;dm‘i@“ g2 = continue to do ~ //

They make sure that they continue to make only one kind of vegetable all year round.
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3
LeWha
#t & = company employee /
H A 73 = everybody /
HY <subject particle> /
L5 0 IK5&L5> O
+THEH & HEEHIC = on Saturday and Sunday /
»y oy
*Keb3 £S5 I 9%, =<plain-style-nonpast-affirmative> of kb3 £S5 IC UE T = make

sure that (X) can rest
* [dictionary-form / nai-form] & 5 (C U &9 = make sure that (X) do ~ / don’t do ~

By vy

* K& % = <plain-style-nonpast-affirmative> of /K& X 3~ (can rest, be able to rest) which is the
Y

potential-verb of /K& X3 g3 (rest) //

They make sure that all employees can take a day off both on Saturday and on Sunday.

FWith
AN A = the person who has no experience /

* 7&\L\ = there is not ~, don’t have ~, don’t exist = <plain-style-nonpast-negative>of % D £
g1 (there is ~, have ~, exist) /

IC <recipient particle> /

(& <topic particle>/

ZTZ%ED Eﬁ*"‘b\b = from the basics of agriculture / \

* ?5(2_% & D IC 9%, =<plain-style-nonpast-affirmative> of %Lii% £D I ULFXI =make

sure that (X) teach
* [dlctlonary -form / nai-form] &5 IC ULET = make sure that (X) do ~ / don’t do ~

* ?5(1% <plain-style-nonpast-affirmative> of %ﬁli? g2 = teach, tell /

They make sure that they teach the basics of agriculture to the person who has no experience.

[ 136
% &% 5, =Aozora (blue sky)
* te-form is often used to join sentences or to mean ‘by (means of) doing ~, with doing ~’. And

it is sometimes used to show reason as well. /
IC <arrival particle> /

|& <topic particle> /
Fnel

B 1F = every year /
DSIELS

=3 = agriculture /
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i/

F ¥ LU fz\L\ = <plain-style-nonpast-affirmative> of 7+ L >3 L 72\\ T = want to
challenge

* [masu-form] 72WL\CT9 = want to do ~ /

EWD %%@ = the young people who are ~

*(X) EWD (Y) = (Y) called (X), (Y) named (X), (Y) which is (X) (It is used to supplement the

contents of some noun. In ‘(X) to iu (Y)’, (X) illustrates (Y) concretely.) /

Y <subject particle> /
BBV
K% = many (people) /

[Fun =49

A>T ETC =A>T <K%, LT, =comeinto and ....
[Fuy
* A2 T < % = <plain-style-nonpast-affirmative> of A>T & X9 g3 = come into, enter into
* te-form is often used to join sentences or to mean ‘by (means of) doing ~, with doing ~’. And

it is sometimes used to show reason as well. /
& <quotation particle> /

3 % = <plain-style-nonpast-affirmative> of 3% D £ 39 g1 = there is ~, have ~, exist /
' <hesitation particle> /

Z1 =that/

|& <topic particle> /

E S LT 2 =<plain-style> of £5 LT TIH =why is (X)?

& <quotation particle> /
% > T W% = <plain-style-nonpast-affirmative> of % > T W&XT =be saying now

* %L\i? g1 =say

* [te-form] L E 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action> /

M <question particle> //

There is ‘many young people who want to challenge agriculture join Aozora every year and ...’
in this article, so according to the author, why is it so? 8-

'%H&H#5, T=inAozora/
Lat <topic particle> /
T7|<o">L = rest, recess, respite, suspension, vacation, holiday, absence /
% <direct-object particle> -
fc< & A =many/
E&% Z &Y TE S = <plain-style-nonpast-affirmative> of HER% Z &N TEXT =can take, be
able to take
* HtR% = <plain-style-nonpast-affirmative> of ECEX D EI g1 =take
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* [dictionary-form] Z &A%Y TZ X9 =can do ~, be able to do ~ /
M5 = because ~ //

because they (young people) can take many days off at Aozora

'%H&H#5, T=inAozora/
|& <topic particle> /
Zﬁ%%@ %E = the way of managing a company /
%i <direct-object particle> /
%5(7(( H 5 X % = <plain-style-nonpast-affirmative> of ?5( H5Z2F79 =(X)teach and | can
reqelve a favor from him
* %Zi@' g2 = teach, tell
* [te-form] H 5 X X9 = (X) do ~ and | can receive a favor form him = potential-verb of ‘[te-
form] £ 5WLWZE 9 ((X) do ~ and | receive a favor from him) //

because you can learn the method of managing a company at Aozora
(because they teach you the method of managing a company at Aozora and you can receive a
favor from them)

SFEESB%“BJ = Aozora /
|& <topic particle> /
EMNS D= (the thing) which exists since the past
;%7@ ©bh 7’:7 how to farm the way of farming
%’& PHhFRI g1 = E%’E LE9 g3 =farm

* (A) @ [masu-form] H/c = how to do (A), the way of doing (A) /
7& <direct-object particle> /
—ro T L3 = <plain-style-nonpast-affirmative> of —ro’C LWZE 9 = be protecting now

Nl 'O &9 g1 = protect, defend, guard, save from harm, secure, obey, abide (by the rules) /
M5 = because ~ //

because the people at Aozora protect (obey) the way of farming which has been handed down
since the past

'%&#5, =Aozora/
|& <topic particle> /
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Lo MAE LS
=D LI\ IRIE = the environment that you can work comfortably (the environment that

the work is easy to do)
L&

* =N U P9 L) = <plain-style-nonpast-affirmative> of 1:|:$7b\ U 9 WTT =the work is

easy to do
* [masu-form] ¥ 9 L\ TT =be easy to do ~ /

% <direct-object particle> /

?’Eo T L3 = <plain-style-nonpast-affirmative> of ?’Iéo T WX =me making now

* ?’é N ¥9 g1 = make, manufacture, create

* [te-form] L E 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action> /
M5 = because ~ //

because the people at Aozora are creating the environment that you can work comfortably (the
work is easy to do)

RAU&SEATZL

ZD XE 21KD 7—X = the theme of the whole of this sentence /
|& <topic particle> /

7RI Bh

fAlH%. = <plain-style> of I TI H =whatis (X)? //

What is the theme of the whole of this article?

ot
ot
S
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o
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=

DSEL
I Hh5S O E3 = agriculture in the future //

3

L% < L_E DSIELS

KIET 17> BZ = agriculture in which you engage with your family members
2Fo<_73 &I

* 1T 5 = <plain-style-nonpast-affirmative> of TL\&K 9 g1 = perform, do; conduct oneself,

behave; carry out //

4
FWIFAL» DEIELS

REREIC %5(10%) B =the agriculture which you learn from an experienced person (the
agrlculture which is taught by an experienced person)

* %5(10% <plain-style-nonpast-affirmative> of %ﬁib N F¥9 g1 = be taught
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&L
*AIC BZ 882 F 9 =IteachAB, Iteach Bto A

Bz
*AlC B 34D £9 =1learn B from A, | am tough B by A, A teach me B
------------------------------ the end of page 29 -------------m-nenmemmomoean
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